EE | No|fon -A-F K#£ FE A& &t
100m 1 11 A Hd 2 AR iT]=]
100m 2 35 £5 #0Y 2 FHFE iT]=]
100m 3 62 = BER 2 RiFhF iT]=]
100m 4 205 BE T | |RiEd -HIE| 5
100m 5 216 e R 1 25T L5
100m 6 242 Ma #Ex 2 S1CED Nz
100m 7 259 #HE %A 1 30 1B Nz
100m 8 429 XE EH 2 EEHKE f Ly
100m 9 442 B/E =Y 1 EAFE F L
100m 10 455 =11 & 1 BEPR f LI
100m 11 627 =H BAEE 1 S SH
100m 12 643 Bl =2 1 J\B8§ SH
100m 13 647 B 2<# 1 AT S
100m 14 824 AT =3 2 It 5iR
100m 15 833 Rl =Y 2 X3t 5iR
100m 16 858 Ll E 1 B Bk 5iR
200m 1 35 £7 ADY 2 FHFE iT]=]
200m 2 37 e EF 2 F& iT]=]
200m 3 62 = BER 2 RiFhF iT]=]
200m 4 206 5)l_#A 2 THXK LS
200m 5 216 e R 1 25T L5
200m 6 241 1+ F4 | |LCEEERSERE| L5
200m 7 274 AR FA 2 AEE L5
200m 8 402 pRE EEB 2 fe] L 28 f] LI
200m 9 429 XE EH 2 EHAE F L
200m 10 455 =17 ATy 1 BEHEPR f] LI
200m 11 601 N FIF 1 5 SH
200m 12 627 =H BREE 1 SIE SH
200m 13 643 Bl =2 1 J\B8 SH
200m 14 824 AT =3 2 T 51R
200m 15 829 X5 FHE 2 A%t 51R
200m 16 858 Ll E 1 B Bk 51
400m 1 12 Big A 2 AR A
400m 2 37 WWH EF 2 F& A
400m 3 45 F BE 1 /NEFH ii]=
400m 4 225 XKE & 2 LEEX Nz
400m 5 232 PR BN 2 | KEIXE | B5S
400m 6 260 &0 & 2 R0 1B LS
400m 7 261 Ty it 2 R0 1B LS
400m 8 402 pRE EEB 2 R L 22 L fi] LI
400m 9 410 =% TiE 2 f LI 55 SR f 1Ly
400m 10 411 i i 2 ] L — &= fi] LI
400m 11 642 EE BE 2 SEIE SH
400m 12 644 EAX Btk 1 J\B8 SH
400m 13 648 H FKAE 2 AFIL SR
400m 14 809 EE HE 1 FHE 51k
400m 15 816 —# MIhE 2 AN 51k
400m 16 829 XEF G 2 X+t 5iR




4= No.| Fon' -p-4 K4 S il B i
800m 1 2 TH BED 1 3 Ii]=]
800m 2 10 AT Fi 2 Odgsg Ii]=]
800m 3 13 KE BEF 1 Fa Ii]=]
800m 4 204 FEE B 2 ZHH L5
800m 5 256 Il E4% 1 iBH Nz}
800m 6 257 g EA 1 iBH Nz}
800m 7 271 HE Bt 2 i 7 L5
800m 8 410 %% T& 2 [ LU 75 R & L
800m 9 437 Tk BE 1 B i L
8oom [10] 443 XEE ¥ 1 EHZE fE L
800m |11 628 R HFE 1 B B
goom [12] 642 ZHA B/HE 2 EHE B
8oom [13] 644 =T 1 J\BE B
8oom [14] 804 B »E 2 HEAR BEiR
goom [15] 809 EE HE 1 HE BEiR
goom [16] 827 Py FEAE 2 T BEiR
1500m | 1 14 ElE 1 7o Ii]=]
1500m | 2 32 NEA XA 1 th¥f % Ii]=]
1500m | 3 59 Pk BE 2 F Ii]=]
1500m | 4 207 fBk  HE 1 ZHXK L5
1500m | 5 222 BE i 2 B=;FH L5
1500m | 6 271 HE Bt 2 HEE N
1500m | 7 272 LR E3F 1 g L5
1500m | 8 403 A i 2 e L2 Ll i L
1500m | 9 440 T E=E 2 EE i L
1500m [10] 441 mE & 2 B i L
1500m |11 640 |Etin Cri—ivHE| 2 |BERGPRBFE| ER
1500m [12] 641 i ZAER 2 |BlRBAFE| BE
1500m [13] 645 NG ED 2 J\BE B
1500m [14] 806 JUDY JEPNGETICH 1 HERE 518
1500m [15] 827 P FEAE 2 T iR
1500m [16] 848 5E BRE 1 T H iR
3000m | 1 15 AR Hh7E 1 7o Ii]=]
3000m | 2 16 am 1 o Ii]=]
3000m | 3 33 =B ES 2 % ii]=
3000m | 4 222 BR i 2 B=;FH /N
3000m |5 258 Rk BRE 2 iBH /N
3000m | 6 273 gk NS 1 H#E /N
3000m | 7 275 il =<5 2 FHEE L5
3000m | 8 403 AP i 2 e L2 L i L
3000m |9 438 IR M 1 B i L
3000m |10 439 IR ED 2 B i L
3000m |11 640 |Ethin Cri—irHE| 2 |ERDRBEE| ER
3000m [12] 641 i 2AER 2 |ElRBAFE| B
3000m [13] 645 NG 2 J\E8 B
3000m [14] 805 SHEILA CHEROTICH 1 HEAR 1R
3000m |15 815 B Xt 1 HERE 1R
3000m [16] 848 S BIEE 1 FH E1R




EE | No|fon -A-F K#£ FE A& &t
100mH 1 17 FER_HEH 1 AR iT]=]
100mH 2 47 A KT 2 SE iT]=]
100mH 3 55 B/ MmF 1 N iT]=]
100mH 4 226 RE = 1 NGRS INZ]
100mH 5 221 #H KB 1 LEEXE Nz
100mH 6 233 INE TS 2 | KEBIXE | E5
100mH ) 243 g B 1 S1CED Nz
100mH 8 401 T B 2 R WLEA H fE L
100mH 9 448 2E D 2 BHPR f LI
100mH {10 454 aE _HF 1 BEPR f LI
100mH 11 616 2. i 1 EER S
100mH {12 617 i ETD 1 EER S
100mH |13 629 XH #&BE& 1 SERYAE S
100mH |14 813 =HH %A 1 HE 5iR
100mH |15 833 R SpY 2 X3t 5iR
100mH {16 857 FE F4E 1 BA &% 5iR
400mH 1 4 e I 2 &Ll iT]=]
400mH 2 55 B MF 1 TETHE iT]=]
400mH 3 60 HE Bx 2 Fx iT]=]
400mH 4 220 R ORE 1 | SBEXHLE | 655
400mH 5 228 Y. = 1 LEEE LS
400mH 6 233 INH FTh 2 | REIXSE | K5
400mH 1 234 NE - BE 2 | REIXE | K5
400mH 8 401 Tik Bt 2 R WLEA R f] LI
400mH 9 406 R EFE 1 fe] L 28 f] LI
400mH |10 411 Big i 2 Rl —= f] LI
400mH | 11 602 RAR = 2 5 SR
400mH |12 618 A BAEER 1 EER SH
400mH |13 648 EH RAE 2 AT SR
400mH | 14 811 BH EK 2 HE 51R
400mH |15 840 hIE %A 1 A%t 51R
400mH | 16 857 FE F4E 1 BA &% 51
5000mW_ | 1 18 BEf_AiEs 1 AR A
5000mW_ | 2 34 fRIE X2 2 ERETES A
5000mW_ | 3 61 XK 4= 2 3 A
5000mv_ | 4 218 =i METY 2 HDEX LS
5000mW | 5 223 A& %A 2 AB=ZH LS
5000mW_ [ 6 224 KR EE 2 L5 LS
5000mW_ | 7 218 REMEA  RIK 1 L% LS
5000mWv_ | 8 412 RE B 2 il LI 3R fi] LI
5000mW {9 414 TH H»YA 2 FAE fi] LI
5000mW__ {10 427 AR miE 2 B S]] fi] LI
5000mv_ {11 613 WA EX 2 ESl SR
5000mWV_ 12 614 2N 1 ESl SR
5000mW_ {13 630 WA 8 1 SERIE SR
5000mW_ [14 801 = ¥ 2 fRls 51k
5000mW_ {15 812 EERE _EK 1 HE 51k
5000mWV [ 16 845 BE = 1 BiRPR 5iR




Eq=| No.| o -h-F K4 S g FriEih
2% 100mR 23 BEH = 2

4% 100mR T R M5 2

4% 100mR 24 BR mE i L
4x100mR | ! 25 B’A 2 1 B o
4% 100mR 26 IR i

4% 100mR 27 BEH ki i

2% 100mR 38 EF 3= 1

4% 100mR 39 =E AT 2

4% 100mR 40 INE A 2 e

Ax100mR | 2| 37 LE BT 2 T o
4% 100mR Iy xE B 1

4% 100mR 2 B3 BEE i

2% 100mR 18 S 7

4% 100mR 47 WA B 2

4% 100mR 49 ME B ) s

4 x 100mR 3 50 B RRTE 2 2" o
4% 100mR 51 FEE T 2

4% 100mR 52 B B 1

2% 100mR 263 x% (65 7

4% 100mR 264 =5 %A 2

4% 100mR 261 B it 2 :

4x 100 | © | 250 HE %A o TR B
4% 100mR 262 A S 2

4% 100mR 269 HE (23 1

2% 100mR 233 INE BT 2

4% 100mR 232 A BE 2

4% 100mR 236 BE HE 2 -
4x10mR | > 237 BE B0 i | BRIXE | L&
4% 100mR 238 XE BE 2

4% 100mR 239 MEREEES 1

2% 100mR 206 Ell &R 7

4% 100mR 209 TE @1t 2

4% 100mR 210 B8 Bz 2 .

4x100mR | 0| 211 AN i i xEX | BB
4% 100mR 212 MEREES 1

4% 100mR 213 Bl ZE 1

2% 100mR 225 XE i 2

4% 100mR 227 5 Ea 1

4 x 100mR 226 i/‘E‘T % 1 Eerch
4x100mR | || 228 R T 5 - BREX | L5
4% 100mR 230 Ex BE 2

4% 100mR 231 BA BE 1

2% 100mR 247 R 2

4% 100mR 448 ME 0 2

4% 100mR 450 Eh =% 2 | .

4x100mR | S| 451 BHE BX g | RESR | E
4% 100mR 452 & 5 2

4% 100mR 455 =17 E 1




Eq=| No.|Fun -p-+ K4 A g FiiEith
4 x 100mR 419 BE ZDH 1

4 x 100mR 420 Bl Fik 1

4 x 100mR 421 v BES 1 .
Ax100mR | 0| 423 k% S g | EIAE | EL
4 x 100mR 429 KB EHF 2

4 x 100mR 430 BmE ED 2

4 x 100mR 457 =@ BmH 2

4 x 100mR 459 S 2

4 x 100mR 460 EBF @1t 1 . ‘
4x100mR | "0 261 T | FLER ) E
4 x 100mR 462 HH W 1

4 x 100mR 463 SH = 1

4 x 100mR 616 BA HhE 1

4 x 100mR 619 W & 2

4 x 100mR 620 X ®E 2 -

ax100mR | 62 BRI B 2 AER R
4 x 100mR 622 B EM 1

4 x 100mR 623 +# HHhY 1

4 x 100mR 601 BINE FiF i

4 x 100mR 605 EX BEX 2

4 x 100mR 606 nE BE 2

4x100mR | 2| 607 =5 2 1 5 R
4 x 100mR 608 Ba EB 1

4 x 100mR 609 WA =¥ 1

4 x 100mR 629 XEH £7% 1

4 x 100mR 631 KA = 2

4 x 100mR 635 TE I 2

4x100mR | 0| 636 LT BEZ | mEmd | B
4 x 100mR 637 Bl B 2

4 x 100mR 638 ER BT 1

4 x 100mR 829 x5 FE 2

4 x 100mR 832 E=M ®E 2

4 x 100mR 833 Rl spY 2

axioomR | 4 834 m xS 2 Kt SR
4 x 100mR 837 ERE 9% 2

4 x 100mR 842 BE B 1

4 x 100mR 849 #0O = 2

4 x 100mR 850 KE B 2

4 x 100mR 853 BE UAt 2

4x100mR |0 856 XE HEPE | R | BR
4 x 100mR 857 Er ¥4 1

4 x 100mR 858 T 1

4 x 100mR 817 Fils oh Y 2

4 x 100mR 818 I 2

4 x 100mR 819 X2 #HF 2 s

4x100mR |0 820 ZE x5 1 ML SR
4 x 100mR 821 =X FE 1

4 x 100mR 822 i1l =4 1




Eq=| No.|Fun -p-+ K4 A g FiiEith
4 x 400mR 21 F == 2
4 x 400mR 12 T 2
4 x 400mR 28 LS 2 N
4x 400mR | ! 24 Bh mE 1 B o
4 x 400mR 29 22 2% 1
4 x 400mR 30 Wi HE 1
4 % 400mR 38 5t 3 1
4 x 400mR 40 NE A 2
4 x 400mR 43 T SEF 1 e
Ax400mR | 2| 37 LE BT 2 T o
4 x 400mR 41 X&E P 1
4 x 400mR 44 HEE 2@ 1
4 % 400mR 48 CIEL] 2
4 x 400mR 53 NI 2
4 x 400mR 47 WA KT 2 i 3
4 x 400mR 3 50 B ORTE 2 2" o
4 x 400mR 51 HH E=H 2
4 x 400mR 54 Il IERE 1
4 % 400mR 263 A% fGF 2
4 x 400mR 264 =S 0E 2
4 x 400mR 260 A0 & 2 :
4x400m | 261 B Bt g | TR RS
4 x 400mR 259 WE =8 1
4 x 400mR 270 i BEF 2
4 x 400mR 233 INE ®T 2
4 x 400mR 232 A BE 2
4 x 400mR 236 wE 9B 2 -
4x400mR | > | 239 =R ;- BREIXE LS5
4 x 400mR 234 NE BE 2
4 x 400mR 240 I FE 1
4 % 400mR 250 EH &= 2
4 x 400mR 251 A %A 2
4 x 400mR 252 AEH BE 2
4x400mR | 0 | 253 N 2 RA | B
4 x 400mR 254 thit BT 1
4 x 400mR 255 &R £E 1
4 % 400nR 242 S 2
4 x 400mR 243 Ll BZ 1
4 x 400mR 244 LL]$ ﬁ-ﬁ* 1 = e
4x400mR | || 245 B ER 1 L &
4 x 400mR 246 Bl 2% 1
4 x 400mR 247 =T 2
4 % 400mR 402 BEH & 2
4 x 400mR 404 12 BT 1
4 x 400mR 405 EE ZEF 2 o
4 x 400mR 8 406 B ELE 1 Rl Ll
4 x 400mR 407 S #E 1
4 x 400mR 408 TS 1




EH No.| Fon -p-F K4 S & FriEih
7 x 400MR 148 BE D 7
4 x 400nR 149 AR B 2
4 x 400nR 150 AR =X 7 .
4x400R | ° | 451 BLLE B | REmR | W
4 x 400nR 155 =17 BT 1
4 x 400nR 156 55 Bl 1
4 x 400nR 131 xR IBE i
4 x 400nR 132 hit SR 1
4 x 400nR 133 wE = 2 ‘
ax400mR | 'O 434 R , | REm | E
4 x 400nR 135 EE ©F 2
4 x 400nR 136 Pk =X 2
1< 400nR 602 A = 7
4 x 400nR 604 Ba  FiR 1
4 x 400nR 605 R BR 2
4x400mR | 610 HE &5 2 5 R
4 x 400nR 611 By bo 1
4 x 400nR 612 wE =& 1
4 x 400nR 647 Bl oCH i
4 x 400nR 643 T ZHE 2
4x400mR |12 649 ME /NI i *74 | B
4 x 400nR 650 TS 1
4 x 400nR 651 A& 5 1
4 x 400nR 629 XE RBE i
4 x 400nR 631 A = 2
4 x 400nR 632 i BE 1
4x400mR | 0| 636 LT B= g | BEmd | BE
4 x 400nR 637 Bl B ?
4 x 400nR 633 EA BRE 1
4 x 400nR 829 x5 FE 7
4 x 400nR 830 T ?
4 x 400nR 831 XE A ?
4x 400 | 4 835 Wi 2 2 At | BB
4 x 400nR 840 HIE XA 1
4 x 400nR 841 A TE 1
4 x 400nR 824 ] 7
4 x 400mR 825 iE ®WEE 2
4x400mR 15| 826 EM =X 2 | wiId | B
4 x 400nR 827 GCBELE: ?
4 x 400nR 828 LT ke ?
4 x 400nR 349 FO T 7
4 x 400nR 853 BE OnG1 ?
4 x 400nR 855 AR mED | |
4x400mR | ' 856 XE HEPE : W | BB
4 x 400mR 857 Er ¥4 1
4 x 400nR 858 T 1




4= No.| Fon' -p-4 K4 S g FiT [ b
Tk |1 1 shep  #bE 1 aE IT]=]
Eo=k [ 2 19 XiE EE 2 Fa Ii]=]
E=k [ 3 31 IR EE 1 =¥ E Ii]=]
Eok |4 235 HwE PE 1 | GETIXKE | LB
E=k [ 5 243 iy BH 1 =1CED L5
E=k [ 6 262 EA T 2 giBv):] Nz}
Eo=k [ 7 280 BHE BOH 2 | BUBAESR | KB
E=k |8 418 i 1 FhE i L
E=Bk |9 450 B EX 2 EHFR i L
E=Bk [10[ 453 Ee e 2 EHFR i L
EEBk |11 602 A 2 i) B
EF=8k |12 603 B 49 1 i) B
EF=Bk |13] 619 WTF & 2 EGR B
E=Bk |14] 838 FE BX 1 At BEiR
E=Bk |15] 846 £ D 2 JEHE BEiR
E=Bk |16] 852 £S5 B 2 BR BEiR
wagk |1 5 ZiE SHE 1 ks T Ii=
HBak |2 208 NFE = 2 ZHXK L5
Hak |3 221 I 1 | EXELE | K5
Hak |4 236 R HEB 2 | GEIXE | BB
HaEk |5 279 =)l #HE 2 teiB L% L5
HEk |6 409 =E b 2 LU SR fE L
wsak |7 416 Be EE 1 FhE i L
HEBk |8 444 R =X 2 =B i L
Hak |9 823 K #3F 1 TR EiR
BEek |10 832 FH XE 2 At iR
HEEk |11 840 HIE %£H 1 At EiR
Engsk | 1 17 RE R 1 7o Ii]=]
Engpk | 2 20 8 Fn 2 o Ii]=]
Engsk |3 63 ax bh 2 KR Ii]=]
Engsk | 4 237 BE B 1 | GEBIXS | K5
Engsk |5 263 AEZ GF 2 GBv):] L5
Eigsk | 6 264 A WE 2 450 1B /N
Engpk | 7 276 Mt BE 1 FEE L5
Engsk |8 419 EE (FOh 1 EHIE i L
Engsk |9 446 i &F 1 pe 10| & L
Emgpk |10[ 454 oE HF 1 B8t g i L
EMERE |11 601 /N FIF 1 15 BE
EmEpk |12 620 AKX FEB 2 =8 B
EmEsk |13] 631 RA = 2 BB B
EmEpk |14 803 =H 2N 1 5 H 1R
EmE®k |15 810 B HEE 2 HE 1R
Ergpk [16] 849 HO F=E 2 BA 5k E1R




BE  [Nolfon L EZ ZE| e mEk
=@ [1] 20 T 2 A= =
=g 2] 2 i B 2 Ax =
=@ 3] 36 X& _rb5b 2 | mE¥E | wo
=B 4] 217 LB TaE 2 | =BT | L&
=@ 5| 229 Bl BRE 2 | BBEZE | L5
=B 6] 244 T | _EBR | LS
=@k | 7| 264 RS e 2 | mle | he
=@ 8] 445 o TS 1 21l L
=@k 9] 446 B BT 1 Em L
=Bk [10] 451 BLE BZ 2 | AEEx | ml
=Bk [11] 604 T i & By
=@k [12] 631 A = 2 | BEmE | BN
=@k [13] 632 iR Be | _BWmit | B
=gk [14] 810 B _BEE 2 HE &R
=Bk [15] 843 WE T& i Rt B8
=Bk [16] 847 AN _HE 2 FH BiR
ARl 1] 9 I 2 AT M=
mal 2] 2 BH BXE i Ax =
BAR 3] 46 A BRER 2 e =
mal 4] 214 BE B 2 2B | BB
BAE 5] 216 2T =0 2 | _wEL | L8
BAE | 6] 266 e ©n T |__#ue | LS
Bnl | 7] 266 B TE 2 | mde | he
Bal 8] 413 RS 2 B L
Al 9] 424 Ba W 2 | _EHk@ | Ml
BnE 10| 426 nm_2 2 | _EHk@E | ml
BnE 11| 633 AH %% 2 | BEmt | BN
BAE 12| 639 e B 2 | _BmE | BN
BnE 13| 646 BE BE 2 | _%¥m | BN
BAR 14| 807 L BRTF 1 B &R
FniE |15 851 PH_ER 2 ZE BiR
iy [16] 854 ER = 1 e BiR
mEE (1] 3 s 9B 2 % =
mEE (2] 1 HH BE 2 EEE =
A&EE (3] 5] E & 2 EXT =
S AEE 2T =0 2 | _wEL | e
M8 | 5] 266 B TE 2 | _mde | e
FaEE | 6] 267 21l ME 2 | _mide | e
AEE | 1] 211 PEE HE 2 | _mEE | L8
A8 8] 413 B BRAZE 2 B L
AfEE 9] 415 mA B 2 B L
A8 [10] 422 WE E 1 | E=%km | m
S EGE BA =<5 ? | BERAE | B
A |12] 624 MO Z% | ezt | BW
A8 [13] 646 B85 Bx 2 | _%¥m | BN
Mg |14 802 EEH MF 2 T H BiR
A8 |15] 808 E@E A3 2 BE &R
A& [16] 839 tE 8RB 1 it BiR




4= No.| Fon' -p-4 K4 S g FiT [ b
Nnov—#| 1 6 A AX 2 S Ii]=]
NnNo<w—3%| 2 8 oA EAE 2 (WO~ E| WO
NnNo<w—%| 3 56 wBIE =<5 2 TRESE Ii]=]
NI —¥%| 4 201 X = 1 T L5
NoI—8%| 5 202 BR HEH 2 T L5
NI —¥%| 6 219 B BE 2 BEDE & L8
NoI—#| 17 268 WA K& 2 giBv):] Nz
N3 —#%| 8 417 e VX 1 FhE i L
No3v—#| 9 425 =H HE 2 EHIE fE] Ly
N —#%[10] 426 P £ 2 EHIE fE] Ly
NI —#|11 615 BEA Kb 2 | EEHREE | Bl
No—#[12] 624 FEO SEmX 1 Badt B
No3—#%|[13] 625 Bl = 2 Badt B
NnNov—#%[14] 802 HEA ME 2 = H BEiR
N —#|[15] 808 =l A 2 HE BEiR
N —#%[16] 836 we BH 2 At BEiR

PyU®H |1 46 WFH  FRER 2 EER Ii]=]

YR |2 57 +F # 2 B Ii]=]

Py®H [3 58 ERAR L 1 B Ii]=]

LUk 4 203 AHF FE 2 Z= L5

PYE |5 219 Bi WBE 2 BED £ & L5

PyY®H [6 248 =8 EF 2 ERF N

Pyl (7 249 =i 2 =RE L5

Py®H (8 428 Biff KX 2 EHIE fE] L

Py®H (9 448 ZA D 2 EHFR i L

HUE [10] 458 RIL T 2 FiE] LI 3 B fE L

Pyl (11 626 WH U1 2 IE=E B

PUE (12 633 M BE 2 SR B

Y [13] 634 %k FicRE 1 SR B

vUE [14] 814 25 B 1 HE iR

HYE (15 844 A B 1 XK iR

PvUE [16] 854 = IES 1 BR iR




